GENERAL SCIENCE — SAMPLE PAPER -1/
MOST EXPECTED QUESTIONS

B Group D 8 October Shift 2
Q1. Birds have:
gt & o 8:
a) two-chambered heart /al-5&fiT gag
) one-chambered heart /Us-seitT gea
) four-chambered heart /aR-%e&T gea
) three-chambered heart /d9-F&ftT gea

Q N O

Sol-
Bird and mammal hearts have four chambers (two atria and two ventricles).

A frog, which is an amphibian, has a heart with three chambers (one ventricle and two atria), and fish
hearts have two chambers (one atrium and one ventricle).
An octopus heart system contains three hearts—one main heart (H1) pumping blood to the body and two
other hearts (H2 and H3) pumping blood to the gills. A, atrium; V, ventricle.
TalY 3k Tl geu # IR wer (@ srelar ok @) o) 8 €

T Haw, S U IWTR &, &7 et i Pail (ve dfeeer sk &Y ufean) Sara giar g, sk Aot S Ra d T par g &
(v wfemw 3k v dfesan) |
U JATFeITd gad Uunell # i ga 819 & - Ueb TR0 gad (H1) YRR Y 7h U ol & 3R &Y 317 geg (H2 3k H3)
TA%S! | 7b U9 &=d &1 U, feaw; &Y, dRewa|

Octopus I |

Bird l
4

Q2. If the resistance is halved the current gets
Tfe ufadry &) sy o fegr ST dr e gar g
a) remains same /@g w@AT &
) doubled / T
) tripled / favaT
)

Q N O

halved /34T

Sol-

If the resistance is halved the current gets doubled.

Electrical resistance is the obstruction in the flow of current.

This means that when resistance will be less, the current will be more.

Also, the formula for the currentis, | = V/ R, where | = Current, V = Voltage, R = Resistance.
According to question, Resistance (R) is halved.

Now, if the resistance is halved and the voltage remains the same, the new value of current becomes, | =
2RV = R2V ,I'=2(RV) = 2I. Hence, the current will become double.

Tfe wfeRrey FF 3T &= faar SU dr 9T g 8 STt 21

faera ufadrer awT & ware ® qre 2

ST Adad ¢ & S8 Uik &w g, aY e Sa1er gNm|

AAE, FE I YA, | = V/ R, 98T | = Fte, V = dieed, R = i)
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UH & AR, ufadrer (R) e g S 21
319, afe ufeRry e R fear Smar @ ok dieest U™ IgaT 8, Y de T F91 g 9 AT §, | = 2RV = R2V ,1'=2(RV) =
211 31 gRT g &Y S|

e __ T FTEL U B
a) ears /&M
b) nose /ATH
c) fingers /3nfaal
d) eyes /3TRd
Sol-

Pinna is the external part of the ears.

In mammals, an ear has 3 parts, namely external ear, middle ear, and inner ear.
The external ear is the outermost part of the ear which is divided into ear pinna and auditory canal.
The ear pinna is the main part and occurs only in mammals.

It is due to this fact mammals are regarded to have true external ears.

The muscles of ear pinna are vestigial parts of the human body.

0T Y T aTEdt W B

FAUTRET H, Th B & 3 YT BN 8, §164 S, 7l B 3R iad F|

TTE BT B BT T STELT W E1eT & Sit 53R ar 3R srqor e # fwifoa ghar 8

IR O e T & 3R St TemRat # g B

TE 39 d20 $ HROT & & Taemial ST Sraelt qredt S /T 1T 2

TR T & wiafEt wHg ¥R & Edy v B

sem‘c"cu':“/’ggﬁgj‘iz}vesﬂbular apparatus
" tempnvmbnnx ) vestibulocochlear nerve

‘oval window

cochlea

round window

ear/canal’

Q4. In carbon atoms are arranged in the shape of a football.
HTE B AT UF Pedld S SMHR § Fafedd g1 &l
a) Fullerenes /G
) Methane /Hid9
) Benzene /SSfT
) Ethane /339

Q N O

Sol-

In Fullerenes, carbon atoms are arranged in the shape of a football.

Fullerenes are one of the allotropes of carbon.

In fullerenes, carbon atoms are bonded by single and double bonds so as to form a closed or partially
closed mesh, with fused rings of five to seven atoms.

The most famous member of the Fullerenes is Buckminster Fullerenes.

The molecule has 60 carbon atoms.
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It is named after Buckminster Fuller, because the structure of the molecule is similar to geodesic spheres
made by this American architect, and is also known as 'Buckyball’ as its shape is similar to that of 'soccer
balls'.

The accidental synthesis in the year 1985 led to the discovery of fullerenes.

BRI | PIe- TRHTY] U Feald P PR § FaAd 81 8|

Carbon atom

Hexagon

Covalent bond Pentagon

AN HIe & TR F T B

BRI H, P TRATY AT 3R 6 915 T 9 8 8 a1 T §¢ A7 3% ¥ F §¢ offed a9 o, foadt uig & |
RATULST & 2 §U e &l

Gl BT Te TG e ISR Horid 8l

31U § 60 BT WAL &1 &

ST AT FHITR PRk & T TR RAT 71T &, aifds 370] Y T 57 MRS aRg®HR gRT -1V ¢ iy 851 & gum
2, 3R 3 ‘sHaTe oft HeT ST & ISP STHT IMHR Tiaw el & TAH & 21

1985 ¥ 3N AE THWUT & HRUT FeRiH I [T g8

Qs. The melting point of ice is:
6 BT Moo 2
a) -273°C
) 273°K
) 273°C
) -273°K

Q N O

Sol-

The temperature of the reverse change from liquid to solid is called the freezing point or crystallization
point.

For most substances the melting point and freezing points are equal.

For ice, the melting point is 0°C or 273K. The melting point is the temperature at which a solid turns into a
liquid.

The melting point at which ice a solid turns to water a liquid is 32°F (0°C).

e A 3 # fuda ufada & araam o fewis g a1 frwecfiaror fig Fear smar 21

rfaeier geref & e erie ok fRwie aum g9

T & forg, i@ 0°C AT 273K €T 21 e 98 aTawT @ foi | 31§ 31 ga # & oI ¢

T ford TR St U 1 U & Sge STTelT §, 8 32°F (0°C) gierr 21

hot 110 °C ]
Temperature Scales °° -
e
80 (upper fixed
(1) Ice point 0°C 3 [y
(melting ice) o B

5 30 melting point
(2) Steam point 100°C ,, || o« .
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(boiling water) o B Goha
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Temperature, Heatand Internal Energy
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Q6. While white washing, CaOH; reacts slowly with CO; in air to form a thin layer of on the walls.
el FRa I, CaOH, ga1 # CO, & Ay ofiy-ofik ufafehar axd SRt W U Udct! WRef S7aT 8

a) Cao
) CaSo.,
) CaCl,
) CaCo,

Qo N O

Sol-

While white wasting Calcium hydroxide (Ca(OH),) reacts slowly with the carbon dioxide (CO;) in the air to
form a thin layer of calcium carbonate (CaCO,) formed after two to three days of whitewashing and gives a
shiny finish to the walls.

Ca(OH),+C0O,=CaC0,+H,0

Calcium carbonate is the chemical name of marble/limestone.

Calcium hydroxide, also called slaked lime.

ST Tihe Ufte SfeRrad gregianss (Ca(OH),) gaT | o1e sTsariaarss (CO,) & Iy #ik-+RY ufaferar &
FfRrgw FrEte (CaCO,) & TP Tdctt IR I9TAT & ST Athet & &l § i AT & a1g s7ar1 & 3tk v IrdheR W 3aT 8|
dar|

Ca(OH),+C0O,=CaC0,+H,0

FFRITT FTETIE AT/ TR ST IS T 2

PRI gTegiaaTss, A g g3 7 oY Tt ST B

Q7=[p-
TS S WATY IR 3T HIe- WATIS T §&T g7 & 3R Ta FoR Ay Ta=r s=mar 2
a) graphite /dprse

b) ethane /39

c) diamond /&RT

d) methane /Htgs
Sol-

In diamond, each carbon atom is bonded to four other carbon atoms forming a rigid three-dimensional
structure.

Diamond is an allotrope of carbon, in which atoms are arranged in a crystal structure called diamond cubic.
Diamond is the hardest and has the highest thermal conductivity of any natural material. These properties
make it very useful for industrial purposes.

R, TS FTET AT IR 3T HTa- AT F J&T €T &, St U HoR - SmareY TRe=T a=rar 8

ERT BT BT U ITRFT 7, fSTd WUl &1 ueh foheet TRa-T & orafd fovar Sirar € {9 sTavis wfas oal ST 21
ERT T F3R gaT & 3k 5T faft off Uropfaes Tt 6t S=raw ardig Iresdr g 81 3 Jor 38 sfenfie 3geat & faw
Igd IuNh T &
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Q8. The value of ‘g * decreases with
‘g’ BT UH &A1Y Hedr &
a) mass /¢ad
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b) amplitude /geoHTT
c) weight /asH
d) altitude /F=TE
Sol-
The value of 'g' decreases with altitude.
‘g’ is the acceleration due to gravity.
The acceleration due to gravity is the acceleration gained by an object due to the force of gravitation. The
SI unit for the same is m/s*.
Its standard value is 9.8 m/s’ on the surface of the earth at the sea level.
The formula of 'g'is: g = GM / R?
The value of 'g" depends on the following:
® altitude above the surface of Earth
® shape of the Earth
® depth below the surface of Earth
® rotational motion of the Earth
'g' BT A FITE & T TedT SITaT B
'g' TFEETHYUT & PHRUT 0T B
TRATHYUT & HRUT @RUT [FATHYUT T & HRUT faft 9% gRT U @RoT 81 30 faw S| 05 m/s? B
TIST AHS T TG dcT R gt & Tdg W 9.8 m/s* 1
'g' FT YA &: g = GM/R?
'g' &1 9 fRafafdd w ARk wwar &
gedt Y T F FarE
Jedl FT TSR
qedl T Aefg b A TERTS
gedt &Y yula i

________ instrument is used to measure potential difference

________ IUGRUT ST I FATAT 3R Y A1 & A o sar &

Potentiometer /TTefaHeR

Ammeter /THIeR

c) Galvanometer /it

) Voltmeter /dTeeHiex

Sol-

A voltmeter is an instrument used to measure the potential difference.

A voltmeter is used between two points in an electric circuit to measure the potential difference between
those two points.

Voltmeter was invented in 1819 by Hans Oersted.

FieeHier T IUARUT & fepT ITahT FuTfad 3R &1 #1aw & fore fsar S 21

e fagga oty & 3 [Ngsit & &9 Ue dieeHie? &7 I9anT 3 af fdgsil & &g duTfad ek o7 /raw & fore far Smar 21
ATeTHICR BT AR 1819 H 24 3RES 7 T am|
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Quo. _________ is NOT a compound.
_________ s e TE R
a) Hydrogen sulfide /gTggoM TehIEs
b) Chalk /=T
c) Sulphur dioxide /HH SEATRITES
d) Lead /s
Sol-

Lead is not a compound.

Lead is an element and the symbol for lead is Pb.

The atomic number of lead is 82 and belongs to group 14 of the periodic table and thus is a post transitional
metal.

Lead is a heavy metal that is soft and malleable, has low melting point, and is amphoteric in nature i.e., can
react with both acids and bases.

Y ve Tifie & 21

AT Us 7 ¢ 3R AT BT el Pb 2

s 6 WATU] TRAT 82 ® 3R TE 3Tad IRV & TE 14 & Sidtid S1aT & 3R $ UHR T TP THHUIRR U7d 2

HFrar v Y erg & St RE 3R ey &, 5Tt emie 1 R, 3R usfa # 3w & srufd, e 3k eR &t & Iy
gfaferar & Far 1

Qi1. Which of the following is a physical change?
FafaRad & @ o= a1 vifas giadT 82

a) Melting of ice /ath &1 faeT

b) Milk is set into curd /g& <&l & 519 AT &
c) Ripening of fruits /Wl &T G&T
d) Grapes get fermented /3R f&f0ad & I &
Sol-
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PHYSICAL CHANGES CHEMICAL CHANGES

In a physical change, matter changes form In a chemical change, a chemical reaction
but not chemical identity. occurs and new products are formed.

MELTING ICE BURNING ROTTING BANANA
wooD

~

MIXING GRAY AND
J GREEN MARBLES

Q12. The character is recessive in garden pea plants.
T & 7ex & ulyl # I srmadt 81

a) yellow seed /diaT §a

b) green pod /&% Wl

c) wrinkled seed /g¥fer disr

d) round seed /T ST
Sol-

The wrinkled seed character is recessive in garden pea plants.

Gregor John Mendel, known as 'father of genetics', chose garden pea (Pisum sativum) for his experiments.
T & veX &ttt & gfer 57 o1 @eror e gar 21

IR ST Hed, fA2 'SafAdt & far & $0 & 7 S7aT 8, 7 310 yaimt & fovw 3am 7er (forgw dfeaw) & gm

Character Dominanttrait Recessive trait S. No. Character Dominant | Recessive
1 Stem height Tall Dwarf
Saai Round Wrinkled
2 Flower colour Violet White
Yellow Green
Full Constricted 3 Flower position Axial Terminal
Pods
Green Yellow 4 Pod shape Inflated | Constricted
Violet White 5 Pod colour Green Yellow
Flowers . v
Axial Terminal
6 Seed shape Round Wrinkled
Stem Tall Dwarf
7 Seed colour Yellow Green
Q3. _________ is the only non-metal placed with alkali metals.
_________ TEHHTH 37eTg & fod &R ety gt
a) Francium /wif@aw
b) Hydrogen /grggie
¢) Rubidium /¥fafsaw
d) Caesium /&fGTa

Sol-
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Hydrogen is the only non-metal placed with alkali metals.

Hydrogen and alkali metals are placed in the group 1 of the periodic table.

This is so because Hydrogen and alkali metals both have only one electron in their valence shell.
BTSS TN THHTH 3TUT] & fordl &R GTqail & AT 3T AT 2

ETSSIo 3R &R argait &1 anad IRuf & Txg 1 7 Rar mar 8

VT gafae & aifes gregior Sk emR argai ST & OISTedr ST | $dd U &l goiaed giar 8l

Q14. Which of the following does NOT possess kinetic energy?
fafafea & & fead nfas S 781 gt 82

a) A rolling stone /T& AfeT WA

b) A falling coconut /fiRdT g3 T1iaa

c) A raised hammer /WWEGHT'&'QJ%T

d) A speeding car /U& a3 IR $R
Sol-
A raised hammer. A raised hammer does NOT possess kinetic energy.
The word "kinesis" means "motion”, hence the kinetic energy is possessed by an object in motion.
U 33T gaTT g2teT| 33 gV gl # nfas ot 4&f gy 81
" ereg T oref A B, gufaw nfas Fatf vfa ¥ v ag & urw Y B

The True Value of Energy

Kinetic Energy In - Potential Energy - Kinetic Energy Out

Energy IN Energy OUT

Qis. Plants that do NOT have a well-differentiated body design fall in the group.
F N fSTE RR &7 3T st e J O 7&¥ 811 8, I & ama &1
a) Gymnosperm /f@eqH

b) Pteridophyta /eReTdrger
c) Thallophyta /dcwrger
d) Bryophyta /sTaI®rger

Sol-

Thallophyta consists of plants that do not have a well-differentiated body design. The plants in this group
are commonly called algae.

efrprger WX G19 E1a & s R &1 U S8t e & faufea fesmes 7€l gar 81 30 vg & Uiyl &) amryd: dare
T STTAT 8|
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Do not have Have differentiated
differentiated plant plant body
body l
Thallophrta Without specialised With vascular
E.g., Spirogyra vascular tissue tissue
Bryophyta
E.g., Moss
Do not produce Produce seeds
seeds
Phanerogams

Pteridophyta

E.g., Fern l

Bear naked seeds Bear seeds in

l fruits
'(iynmtmp‘crnw
[Epmopes
E.g., Pinus

Dicot Monocot

E.g.. Pea E.g.. Maize

Q1e. In which group of the modern periodic table are halogens placed?

3y 3mad grRoft & 5 g 7 o @ U E?

a) 1eth
b) 18th
c) 1st

d) 17th

Periodic Table of the Elements

14 15

V.
Allali Metal P Nonmetal

Atomic — (& [ A
Number ‘Allaline Earth Halogen

Wransitionmetat  Phioble Gas
Weasic metal W antha

Peemimetal ¥ Actinide

Lanthanide B}
Series

Actinide
Series

Q17. Richness of mixed compound elements of nitrogen and phosphorus is known as:
ATSESIT TUT BREGRA & AT e Tt Ht o=Rar deardt &:

a) Eutrophication /gdryor
b) Sedimentation /3/adTed

¢) Hydrogenation /gTggIai-Ia0r
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d) Oxidation /3arfaetaur

Sol- Reducing 4@ Oxidizing
Agent [ Agent
Compound A Compound B
loses electrons gains electrons
Algae Blg
.~A\ Oxidized ‘ Reduced
Oxidation Reduction

Q18. When two liquid material do not mix with each other and do not make solution, then they are called-
9 &1 ga uery smow 7 7E e € ok fawe 78 a9 €, 9 3 FEea &-
a) Solvent /femas
) Solute /fa@g
) Immicible /3rf@rsroftr
) Decantation / f3&es=

o N o

Sol-
The two liquids that can't dissolve in each other or the two liquids in which diffusion can't takes place are
called immiscible liquids.

3 € 2T o U gk | & YT Thd 1 3 2 g o fawRor 7€ €1 T, siffisofiy ga wEema

Liquid A

'n— Meniscus

Non-miscible Miscible

Q19. Milk of Magnesia is used as-
Ao 31T FARYaT T v s e 8-
a) Laxative / cieafea
b) Painkiller /a& fRarR®
c) Sedative /disfea
d) Antibiotic /@&ieTaifed gararnt
Sol-
Milk of Magnesia is used as a laxative to relieve occasional constipation. Milk of Magnesia is also used as an
antacid to relieve indigestion, sour stomach, and heartburn.
e 31Tt AT T ITTHT HHI-FUR I AT oot U M6d UMW F faiv Yo & F9 # fFar Srar 21 fies 1w dufmr o
IUTNT 379, g7 e 3R AR F ¥ R F v Gerfis & v & of fsar Srar 2

Q20. Who is knows as “Father of modern chemistry’?

“ T ITTTT AT & S & T B Y AT S1ar | 2
a) Ernst Rutherford /UiRe IcX®IS

) Otto Hahn /30eT g4t

) Dmitri Mendeleev /fefa= #3ciia

) Antonie Lavoisier /T@Id daifo®

o N O
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